saEt || &R L[ omoz  ||(mEm 109

FRE
T = T 52 =

. /A

~ r'J\%iJ THE. TEVE T TE ETTFB L,
(] (]
I-01‘4‘01 =0.2,."1.5-0.3=1.2, (2R3 AR,

[ VY

< TR ﬁjo)i%ﬂ'(d—i?')b‘%f(v“c RESE 0

L3y X & o7t

BH ~PZE ELE, TosE rAUALR

(1 EAB KUBPHENTS liman)

(M 1.1 2.6 ZOLOLEHE EWWET

(2) 2.7 0.8 ZOLHLHICHDB [.] % EVWET
(3) 0.8 8 % Z AT EETD > TF

(4) 0.6 13 % bl ¥ o1 & ks X 1)) > TF

T XA

O tEELES msa
(1) 0.1+0.2= (2) 0.5+0.2=0.7 (3 0.54+0.6=1.1

4) 1+0.1=1.1 (5) 3.4+1.3=4.7 (6) 5.2+2.8=8
(7) 0.7—-0.2=0.5 8 0.9-0.8=0.1 (9 1—-0.7=0.3

1y 2.6—1.2=1.4 @) 3—0.9=2.1 (1) 8.1 —1.6=6.5

L&29 2 L&295 TA

NI DIEUEIPTOZE]I TR, INIRIDFEZITDONTLBDH.

© JBehesRT HEU TR IEEENIE05E EANEN
5e5&. [0.140.13=0.23]. [10.01+2.2=12.21] R2&
5'&'71'

©#FIZ®ch @ misonya.com



ZESE || BRI wme-3 i 109

FRE
T fH 2] 50 &=

MMemy EM10mmy LR, NS TTmm) & %Ocm
VS22, TImmy & 0. 1lecmy 2R3 LA

Lauw ~x & o9l

BH X7xBh

0 12 [<IT>] BBOT. BMOAXZEILNES [m2s]

(1) 0.5 0.1 2 0.71<| 1 (3) 1.2 0.9

>
4)2.1|>[1.8 (5) 3.6 >|2.9 6) 8.1 >(0.9

>

<

7 5 |<|5.5 (8) 0.1|>/0.01 (9 3.5 3.05
(10 0.82<|1.01 n17.7|>|(1.77 «» 51.9 52
2 ICADHE. MNETHZS iea)

(1) Tmm= cm (2) 10cm=| 0.1 [m

3 1cm=[{0.01|m (4) 700m=| 0.7 [km

(5) 5dL=| 0.5 |L 6) 10m=|0.01|km

(7) 35cm=|0.35|m (8) 20mL=|0.02|L

€) BENEVLOALEEAPZED limse)

02+ 3 -28-12 | 02-12.28-.3 |

(2 2.07 -+ 2.7 +0.98+-0 | 0-0.98:2.07 2.7 |

©#FIZ®ch @ misonya.com




6 *20FEOTHIES tmsn

(1) 0.3 « (0.8

<m042-<:>
©

(10 1%282&1 727 2Ho0HHIZ

ICA% ?&75:7)%_’) [1R93:5]

2) 0.2%4 236 lHhDOHIEIE

3) 0.37272&5%282h20HIZ

<m@!ﬂy003
<mo&m-‘ll}

(

3EE || BRI [ o4 g 109
=
g =E 51 =
NI APV SESRVE 2 STOR DR ACY s
< TRECLAUAL TR NETRBEN | )
L3L ~ & 0T (2';’?\,"‘5’3(7"(7 \_i’bi'c‘ U(\.’Q")Ta}ct')
BH¥ X7 Bh H¥5
€ HEELES tmea
(1) 0.5 (2) (3) 2.8 (4)
+ 0.7 + 0.6 1.2 + 3
1. 4.0
(5) 1.7 (6) 2.1 (7) 5.4 (8) 8
~ 0.3 — 1.7 ~ 3.8 =
1.4 0.4 1.6 0.7

mon7-CIb

w%‘b

Y
18.8 | ¥
42.1 | %

©#FIZ®ch @ misonya.com



